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TH E UNITED REPUBLIC OF TANZANIA 
NATIONAL EXAMINATIONS COUNCIL OF TANZANIA 

CERTIFICATE OF SECONDARY EDUCATION EXAMINATION 

BIOLOGY 1 
(For Both School and Private Candidates) 

Ti.r11e: 3 Hours Year: 2022 

Instructions 

1. This paper consists of sections A, B and C with a total of fifteen (15) questions. 

2. Answer all questions in sections A and B and two (2) questions from section C of whid 
question number 13 is compulsory. 

3. Section A carries fifteen (15) marks, section B sixty (60) marks and section C carries twenty 
five (25) marks. 

4 . All writing should be in blue or black pen, except for diagrams that must be drawn in pencil. 

5. Cellular phones and any unauthorised materials are not allowed in the examination room. 

6. Write your Examination Number on every page of your answer booklet(s) . 
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Sf<( I ION \ ll5' l\lar"sl 
\ns\\ er all qucstllH lS 111 thts Sl'L' l inn. 

1 \,, ~- .1~·11 \,t thl· ttcms (1) - (\). choose the correct ans\\-er from among the given alternatives and 

\\ 11tL' its kttcr beside the item number in the answer booklet provided. 

t 1) Which component of the nervous system receives impulses from receptors? 

A Response B Effector C Relay 

D Motor E Coordinator 

(ii) Which of the follow ing is the proper method for disposing plastic bottles? 

A Landfill B Incineration C Burying 

D Recycling E P it latrine 

(i ii) An individual w ho is riding a bicycle can waste a lot of w ater through sweating. Which of 

the foll owing organs is responsib le for the water loss? 

A Stomach 8 Kidney C Skin 

D L iver E Lungs 

(iv) In the cowshed, a red furred cow mates with a white furred bull . In FI generation all cows 

were red furred. What does thi s suggest about fur colour in cow? 

A Incomplete dominance 8 Co-dominance C Multiple allelism 

D Complete dominance E Partial dominance 

( v) Which of the following parts allow water to enter into the seed before germination? 

(vi) 

(vii) 

(viii) 

( ix ) 

A Testa 8 Plumule C R adicle 

D Cotyledon E Micropyle 

In natural selection, which types of characteristics are affected?' 

A Inherited B Acquired C Survived 

D Dominant E Recessive 

Which process allows absorption of water and mineral salts from the soil in plants? 

A Diffusion B Osmosis C Irritability 

D Mass flow E Regulation 

Why spiders and scorpions are placed in the same class? 

A They have three pairs of legs B They have a pair of wings 

C They have a pair of chelicera D They have three body parts 

E They have two pa irs of antennae 

Straightenin g and bendin g of the arm involve contraction of the b. d · 
. . . . . 1ceps an tnceps 

muscles. Whi ch of the follow mg a lternatives describes the state o·f in I h h 
· b 

7 
c use es w en uman 

arm 1s ent 
A 

13 
C 

IJ icc ps mu sc les contract whil e Lri ceps rel ax 

Trice ps muscles contracl whil e biceps re lax 

Both th e biceps and lri cc ps musc les n: lax 

D Biceps m usc les rela x w hil e tri ce ps contract 

E Both b ice r,s and !ri cer s musc les conlract 
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l ') \\ hn h katurcs arc l<Htnd 111 bot h plant and nnmw l cells'? 

\ Chloroplast, cell wnl l nnd cel l rnemhrnne 

H Cell membrane, nucleus and cytoplasm 

(' Vncuolc, ce ll membrane and ce ll wall 

D Cel l wa ll, ch loroplast and vacuole 

E Chloroplas t, nuc leus and cell wal l 

, . . . . t s in List B by w ri ting 

Match the uses ot apparatuses in List A with the correspond mg appara use . d d 

the letter of the correct response beside the item number in the answer booklet provt e · 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

List A 

An apparatus used fo r heating substance in the laboratory. 

A n apparatus used for storing test tubes so that they do 

not roll or break. 

An apparatus used fo r measuring vo lu me of liquids. 

An apparatus used to magnify specimens. 

An apparatus used for keeping live aquati c animals in the 

laboratory . 

SECTION B (60 Marks) 

Answer all questio ns in thi s section . 

List B 

A Bunsen burner 

B Aquarium 

C Measuring cylinder 

D Hand lens 

E Spatula 

F Test tube rack 

G Fi lter funnel 

H Test tube holder 

3. "Animals cannot survi ve witho ut moving from one place to another." Just ify this statement by 

giving three poin ts with one exampl e in each. 

4 . Mr. Shamba got a car acci den t and was badly injured. During the First A id process M r. Sai put 
011 

gloves, took a cotton wool and gave him painkillers . What was the use of-, 

( a ) gloves? 

(h ) co tton woo l? 

(cJ r ain killer'! 

5. 11 /Jw 11, the hurm111 urinary system udaplcd lo pcr l"orm it s roles c lTcct iv 
1 

·> . ~ , . 
e Y. Gi ve l our pnmts. 

(c1 ) Hric ll y cx rl.1 111 th e w: ,ys lh ro uµ h which c0111 111
l1 · ., 1. I 

1
. 

ll l C. \() C l 1sc ·1 ' , · 

r cr-,c ,n Lo ,11H>l l1L: 1. < ii vL: tli rL:L: poi ,it s. · • scs arc lransinittcd from one 

Why ,., 11 ht: itllli y adv1-.cd to hoii drillkllt , \. , t , ·') ,. 
g v.i 1.: 1 . ( •I VL' a l'L'ason. 
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8. 

9. 

Ht ll.' lh ' \J)l • 1 , . 1ple for each. 
• l. .i i n t 1e lollo\\'ing terms and g t\' e one exan 

l.t) Competit ion 

(b) Mutual ism 

( c) Predation 

(a) 

(b) 

(a ) 

Differentiate the term hyperglycaemia from hypoglycaemia. 

Give four symptoms of a person suffering from d iabetes mellitus. 

Why is it impossible for a locust to die when its head is held under w ater? 

(b) Why do people breathe more when they run fast? 

l 0. Briefly expla in how the nervous system and the adrenal gland work together to bring about a 

response w hen a person is threatened by a lion. 

11. Why is transpiration important to plants? Give three reasons. 

12. A hete rozygous normal skinned man married a heterozygous normal skinned woman. They gave 

birth to three normal skinned chi ldren and one albino child. The father complained that the albino 

chi ld w as not his. As a biologist use genetic cross to find out whether the albino child belongs to 

the father or not. 

SECTION C (25 Marks) 

Answer two (2) questions from this section. Questi on number 13 is a compulsory. 

13 . Expl a in fo ur family planning methods and indicate one di sadvantage of each. (15 marks) 

14. Wh y is it important for plants to carryout photosynthesis? Expl ain by giving four reasons. 

(10 marks) 

15. Many peop le be lieve that in sects are harmful to man herice they find · h . 
. . . . , . _ . . . poisonous c em tea ls to 

eradi cate them. G 1v1ng exampl es , exp la in four ways 111 whi ch msects ai·e t' 1 t , use u o man. 

(10 marks) 

P.i g1: 4 or 4 
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